Wildwood 2 HMA ERU Sheet
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0125 16 0030 00000 0170 ER 1.51 0 Yes 1 0.65 | Present X 50 0.50 1 $6,249.12 $1,562.28 $4,686.84
0125 16 0030 00000 0180 ER 1.24 0 Yes 1 0.65 | Present 100 1.00 1 $12,498.23 $3,124.56 $8,373.67
0125 16 D030 COC0O0 0181 ER 1.18 o Yes 1 0.65 | Present 100 1.00 1 $12,498.23 $3,124.56 $9,373.67
0125 16 0030 00C00 0190 ER 1.18 0 Yes 0 0.65 | Potential 100 0.65 1 $8,123.85 $2,030.86 $6,092.89
01 25 16 0030 00000 0191 ER 1.18 [ Yes 1 0.65 | Present 100 1.00 1 §$12,498.23 3,124.56 $9,373.67
01 25 16 0030 0000C 0201 ER 25 0 Yes 1 1.30 | Potential X 50 0.65 1 $8,123.85 2,030.86 $6,092.89
01 25 16 0030 00000 0290 ER 25 0 Yes 1 1.30 | Potential X 50 0.65 1 $8,123.85 2,030.86 $6.092.89
01 25 16 0030 00000 0300 ER 4.89 [ Yes 1 2.60 | Potential X 100 2.60 3 $32,495.40 $8.123.85 24,371.55
01 25 16 0030 00000 0310 ER 489 [} Yes 0 2.60 | Potential X 50 1.30 2 $16,247.70 $4,061.93 12,185.78
0 $116,858.46 $298,214.62 $87,643.85
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